Word Problems

Subtraction

1. A property had 347 trees on it. 89 trees were cut down to make way for a house to be built. How

many frees remained on the property”?

2. Nick had $430 saved. He went shopping and spent $159 on video games. How much money did he

have left?

3. Tim read 152 pages of his book. He needs to read 208 pages for homework. How many more

poges does he need to read”?

4. There were two events on over the weekend: a carnival and a concert. 536 people attended the
carnival, and 271 people went to the concert. How many more people attended the carnival thon

the concert?
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5. At the beginning of the day, the window washer had 162 windows to clean. After lunch, he had 86

still to clean. How many windows did he clean before lunch?
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Word Problems Answers
Subtraction

1. A property had 317 trees on it. 89 trees were cut down to make way for a house to be built. How

many frees remained on the property”?

258 trees

2. Nick had $430 saved. He went shopping and spent $159 on video games. How much money did he

have left?

§271

3. Tim read 152 pages of his book. He needs to read 208 pages for homework. How many more

poges does he need to read”?

56 pages

4. There were two events on over the weekend: a carnival and a concert. 536 people attended the
carnival, and 271 people went to the concert. How many more people attended the carnival thon
the concert?
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262 people

5. At the beginning of the day, the window washer had 162 windows to clean. After lunch, he had 86

still to clean. How many windows did he clean before lunch?

76 windows
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